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How many spolees are there in the "Asholea Chalora" of the Indian MNational flag?
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l.

L

£ % 4§

L

Question Number : 1
Correct : 2 Wrong : 1
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Correct: 2 Wrong : 1

®

%

-

“

7
“
.

20

ahal

20

www.upscstudymaterials.com


http://www.a-pdf.com/?wm-demo
http://www.a-pdf.com/?wm-demo

Which of the following states is the largest producer of %I:nlcl in Igc]ia’? _
Onptions www.Tipscstudymaterials.com
p :

1. ¥ Uttar Pradesh
2 ® Gujarat

# Tamil Nadu

4 ® Iadlyya Pradesh

¥ Kamataka

L

Lh

Question Number : 2
Correct: 2 Wrong : 1
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Options :
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Question Number : 3
Correct : 2 Wrong : 1

The national song "Vande Matram" was composed by
Options :

1. * Shri Aurobindo

)

2. % Banldmchandra Chatterjt
. ® Rabindranath Tagore

- # Kabir Das

. *® Tulsidas

[ O N

LA

Question Number : 3
Correct: 2 Wrong : 1
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Options :
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2. ¥ afrEr Tl g
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Question Number : 4
Correct: 2 Wrong : 1

Garjhat hills are also known as:
Options :

1. ¥ Orissa highlands

2. % Central highlands

® Meghalaya hills

4. ® Rajoghat hills

L

#® Kerala highlands www.upscstudymaterials.com
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Question Number : 4 www.upscstudymaterials.com
uestion Numbper <

Correct : 2 Wrong : 1

TSgTE UgTia i Garjhat hills) = FETiRT & &0 # off SIE7T AT 8
Options :
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Question Number : 5
Correct : 2 Wrong : 1

The youngest recipient of the award Bharat Fatna' is;
Options :

1. ® CNR Ran

2. % Sachin Tendullar

&

Led

Lanratya Sen
. % Bhimsen Joshi

) W ‘I__.".‘I__." Gu-l

I

LA

Question Number : 5
Correct: 2 Wrong : 1
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Options :
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Question Number : 6
Correct : 2 Wrong : 1

The difference in time between [ndian Standard Tine(I5T) and Greenwich Mean Tiume (GMT) 15
Options :
1. ¥ 5 hours 30 minutes

2. % 12 hours 30 minutes

24 hours 30 minutes

L

k"
4 *® § hours 30 minutes
k"

& hours 30 minutes

Lh

Question Number : 6
Correct: 2 Wrong : 1
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Options :

1. ¥ 5930 e

2% 1030 e
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Question Number : 7
Correct: 2 Wrong: 1

To provide fization of minmmum wages in certain employments m India, the mintnim wages act was passed
Options :

1. % 1042

2. ¥ 1043

3. % 1056

4. % 1064

% 1073

[

Question Number : 7
Correct : 2 Wrong : 1
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Options :
1. * 1042
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Question Number : 8

Correct: 2 Wrong : 1

Which country hosted FIFA World Cup 20147
Options :

] ® Spain

2. % Greece
% Poland
4. % France

¥ Brazil

L

Lh

Question Number : 8
Correct : 2 Wrong : 1
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Options :
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Question Number : 9

Correct: 2 Wrong : 1

Which Governor General was responsible for the Partition of Bengal in 19057
Options :

| ® Warren Hasting www.upscstudymaterials.com
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% Lord Comnwallis

~ #® Lord William Bentick

* Sir Robert Mapier
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Question Number : 9
Correct: 2 Wrong : 1
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Options :
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Question Number : 10
Correct : 2 Wrong : 1

Light vear is a unit of:
Options :

1. ® apeed

2. % Distance

. % Time

®

(RN ]

=

Acceleration

L ® Velocity

LA

Question Number : 10

Correct: 2 Wrong : 1
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Question Number : 11
Correct: 2 Wrong : 1

Lucknow Pact was signed between India MNational Congress (INC) and Nuslim League in:
Options :

1. % 1010

2 ¥ 1016

% 1014

% 1017

L

I

% 1010

L

Question Number : 11

Correct : 2 Wrong : 1 www.upscstudymaterials.com
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Options :
1. * 1010
1. ¥ 1014
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% 1014
% 1017
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I
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Question Number : 12
Correct: 2 Wrong: 1

Which of the following planets 15 said to be the "twin sister” of the Earth?
Options :
1. ® Satum

-

2 ¥ Venus
L ® Jupiter
% Mars

% Mercury

d= 0 La

[

Question Number : 12
Correct : 2 Wrong : 1
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Options :
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Question Number : 13

Correct: 2 Wrong : 1

Which of the following 15 the longest numing tramn of the Indian Failway i terms of distance and time?
Options :

1. ¥ Dibrugarh-Kanyalounari Vivelr Express

2 % Jarmmu-Kanyalounan Himsagar Express

% Mangalore-Jamnm Mavyug Express

L

4 ® Yashwanthpur-Dibmugarh Express

# Tirunelveli-Jammu Fupress

Lh

Question Number : 13
Correct : 2 Wrong : 1
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Options :
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Question Number : 14

Correct : 2 Wrong : 1 www.upscstudymaterials.com

Hydrogen was discowvered by
Options :

1. ¥ Henry Cavendish

2. % Carl Wilhelm Scheele
® ] oseph Priestley

L

4 % Pierre Janssen

# Norman Locloyer

Lh

Question Number : 14
Correct: 2 Wrong : 1

FTES I &1 i & T8

Options :

1. ¥ 0 Ttz e g

1 ® e R A g
% Sraw e grT

% 3
o %

Question Number : 15
Correct : 2 Wrong : 1

Which of the following is a ferromagnetic material?
Options :

1. ® Quartz

2. # Bismuth

. % Aluminium

4 ¥ Nickel

% Lead

Ll

LM

Question Number : 15
Correct: 2 Wrong: 1

T & ¥ OF wigarad 1 0 1 57

Options :

1 *® gt

2. % Remy
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. e

®  gftamr
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Question Number : 16
Correct : 2 Wrong : 1

The EIZIth comumonwealth games, 2014 were held in;
Options :
1. ® Beijing

7 % Athens

-
- Malaysia www.upscstudymaterials.com



4 % New Delhi
5 Glasgow
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Question Number : 16

Correct: 2 Wrong: 1

20ET TEAS A @e, 2014 i fomaT T
Options :
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2% pigd
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Question Number : 17
Correct : 2 Wrong : 1

The Fussian operated Global Posttioning System (GPS) 15 referred to as:
Options :

1. ® Galileo

2. % US-GPS

. ¥ GLONASS

% IRNSS

. ® BeDou-2

d= L

L

Question Number : 17
Correct: 2 Wrong : 1

TG T UM Toltee Tiraerien e (=it e & &0 # S5 =mar &
Options :

1. ® e Galileo)

. ¥ qog-SniiTE US-GPS)

. ¥ T GLONASS)

4, % FEINTITHUE [RNSS)

. ® =132 (Beidou-2)
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Question Number : 18
Correct : 2 Wrong : 1

Tropic of Cancer passes through which of the following states of India?
Options :
1. ¥ West Bengal

7. % Maharashtra

. % Uttar Pradesh
4 %

(RN ]

Andhra Pradesh

LA

L ® Haryana

Question Number : 18

Correct: 2 Wrong : 1
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Question Number : 19

Correct: 2 Wrong : 1

Which of the following is ranlced as the highest Civilian award m India?
Options :

1. ¥ Indira Gandhi award

-

2. * Paramveer Chalaa award

~ # Padma Vibhusan award

(W]

. % Plarat Ratna award

I

- #® Ashok Chalara award

[}

Question Number : 19
Correct : 2 Wrong : 1
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Options :
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Question Number : 20

Correct: 2 Wrong : 1

Which act was passed by the British parliament in 1947 to divide the country into India and Paldstan?
Options :

1. ® Indian Liberalisation Act

2. ¥ Indian Independence Act
3. ® Freedom of India Act
4. * Indian Fepublic Act

. *® Indian Sovereign Act

[}

Question Number : 20
Correct: 2 Wrong : 1
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Options :

1. ¥ et F_J_ﬁﬂ' STTErTa Indian Liberalisation Act)

. T T T STeram Indian Independence Act)
. ® T W AT STeram Freedom of India Act)
4. ® QR T T2 [ndian Republic Act)

% ﬂ'l'{‘clcl?ﬂ-“lmg STeram Indian Soversign Act)
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Question Number : 21 www.upscstudymaterials.com
Correct: 2 Wrong : 1



World's longest railway platform is at; )
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Options :

1. ¥ Kollam railway station

2 ® Sonepur raflway station

L

# East Perth raflway station
4 ® Eharagpur railway station

o Goraldypur raflway station

Lh

Question Number : 21
Correct: 2 Wrong : 1
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Options :
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Question Number : 22
Correct : 2 Wrong : 1

Which of the following states has the highest literacy rate?
Options :

1. ®* Himachal Pradesh

2. ¥ Kerala

3. % Sikldm

4. % Mizoram

% Arunachal Pradesh

LA

Question Number : 22

Correct: 2 Wrong : 1
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Options :
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Question Number : 23

Correct: 2 Wrong : 1

The classical dance form "Bharatnatyam" originated from:
Options :

1. * Kerala

2. % Tamil Nadu

. # Andhra Pradesh

~ ® Karnataka

(]

I

. * Himachal Pradesh www.upscstudymaterials.com
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Question Number : 23 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1
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Options :

1. #® e

2 ¥ qieg

3. ® i

4. ® mafew
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Question Number : 24
Correct : 2 Wrong : 1

Which of the following states is known as the "Fice Bowl of India"?
Options :

1. * Tamil Nadu

2. % Bihar

Lsd

L ® Chandigarh
% Andhra Pradesh

. % Uttar Pradesh

I

LA

Question Number : 24
Correct: 2 Wrong : 1
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Options :
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Question Number : 25
Correct : 2 Wrong : 1

Who amongst the following was lown as the "Iron Man of India" 7
Options :

1. * Lal Bahadur Shastri

2. ¥ Sardar Vallabhbhai Patel

3. * Subhash Chandra Bose

e

% Tatya Tope
. ® PBhagat Singh

L

Question Number : 25

Correct: 2 Wrong : 1
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Options :
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Question Number : 26

Correct : 2 Wrong : 1

The boole "Glimpses of World History" is written by
Options :

1. ® Mahatma Gandhi

2. % Jawahar Lal Nehru

. # Rabindranath Ta gore
# AP.J Abdul Kalam

¥ RK Marayan

d= L

[

Question Number : 26

Correct : 2 Wrong : 1

ELTED "Tarer STaETE &1 Sore( Glimpses of World History) Toam T &;
Options :

1. ® mgrent et g

2. ¥ TR A HEE BT

- ® Tt B g
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R YTF AR BT

J= L

L

Question Number : 27

Correct: 2 Wrong : 1
After 2011, next census of India will talee place in year:
Options :
1. % 2015
2. % 2001
& o026
4. % 2031
_ b

(W]

[}

Question Number : 27

Correct : 2 Wrong : 1

af 2011 F TS, AN HT ST TAOET A= gt e H
Options :

1. % 2015

2.9 1001

% 2026
4. % 2031
®

(RN ]

LA

Question Number : 28
Correct: 2 Wrong : 1
The boundary between United States and Canada is lown as:

Options :

www.upscstudymaterials.com
1. % 17™ paratlel
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Question Number : 28

Correct: 2 Wrong : 1
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Options :

1. % 17 gt gueE

7 W
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]

L
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4. ¥ 4
% 54
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Question Number : 29

Correct : 2 Wrong : 1

Which of the following phenomenon occurs at new moon, when the moon comes between the sun and the sarth?
Options :

1. ® Lunar eclipse

2. ¥ Solar eclipse

® Sidereal day

L

®

=

Lymial eclipse

* Full moon day

A

Question Number : 29
Correct: 2 Wrong : 1
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Options :

1. ® FgmEm
2V g
e T
. ® it mEoT
* it
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Lh

Question Number : 30

Correct: 2 Wrong : 1

The smallest Indian state in terms of area is:
Options :

1. ® Haryana

2. % West Bengal
. ¥ Goa

% Kerala
L ® Magaland

[ S

L

Question Number : 30
Correct: 2 Wrong : 1
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Question Number : 31
Correct: 2 Wrong: 1

Who amongst the following shared the "MNobel Peace Prize" in 2014 with Malala Yousafzal?
Options :
1. * Hiroshi Amano

-

2. # Ramesh Agrawal

. ¥ Kailash Satyarthi
. ®vs

(W]

I

IMaipaul
"/

LA

Lmartya Sen

Question Number : 31
Correct : 2 Wrong : 1
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Options :

1. ¥ Bt smEt

2. ® THST ST

. Frerar geaedt

4. % FrUe i

% e Ee
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L

Question Number : 32

Correct: 2 Wrong : 1

"World Enviromument Day" is celebrated on
Options :

1. %] anuary 12

2. ® May 31

% Lprl 7

4. % March 8

¥ Tune 5

L

Lh

Question Number : 32

Correct : 2 Wrong : 1

Terer T et T faare” AT 4T E
Options :

1. ® 12 S @y

2% 31w

® 7 after ot

4. % g Al @

5. ¥ 5 T

L
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Question Number : 33
Correct: 2 Wrong : 1

The first metro rail in India was introduced at;
Options :
1. % Delhi

2. ¥ Kolkata

www.upscstudymaterials.com

[N ]

% Bangalore
- %® Mumbai

I

~#® Chennai

[}

Question Number : 33
Correct: 2 Wrong : 1

TR § T el 4l g€ & 78
Options :

1. ® e

2 FiemET i

3% gEeH

B g

R IR

I

[

Question Number : 34

Correct : 2 Wrong : 1

The first recipient of Dadasaheb Phallee Award was
Options :

1. ® Dileep Faunar

2. ¥ Devilea Rani

k-

L

sowmitra Chatterjee

4 ® alryam Benegal

LM

% Kawi Pradeep

Question Number : 34
Correct: 2 Wrong: 1
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Options :
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2. T T

. % e et
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Question Number : 35

Correct : 2 Wrong : 1

The design of the Indian national flag was adopted by the Constituent Assamnbly of India on
Options :

1. ¥ 15 August 1947

2 % 26 January 1950

3.9 22 July 1047

4 % www.upscstudymaterials.com

26 Jammary 1947



5. % 22 July 1950 .
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Question Number : 35

Correct : 2 Wrong : 1
WA T BT 2o &1 TS5 WA &7 TiererT= THT GRT ST 7T

Options :

1. ¥ 15 30Teq 1947 BT
2. % 2§ FqetT 1950 @I
22 FFTS 1047 @i
26 ST 1047 W
22 FTE 1050 Wr

oW
® % 4§

LA

Question Number : 36

Correct: 2 Wrong : 1

The proposed "statue of umty", which is to be budt n Gujarat, 15 named after:
Options :

1. % Mahatma Gandhi

3 Subhash Chandra Bose
Dadabhai MNaoroj

_ ks
_ ks

4. % Sardar Vallabhbhai Patel
ks

(W]

Swratd Viveleanarnd

[

Question Number : 36

Correct : 2 Wrong : 1
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Options :

1. ® HgTeAT et

2% g a9
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e

L

Question Number : 37

Correct: 2 Wrong : 1

What was India's ranl in 20th Commonwealth games medal tally?
Options :

1. % First

2. %® Second
® Third
4. ® Fourth

+ Fifth

L

Lh

Question Number : 37
Correct : 2 Wrong : 1

20cf TEAEH Gell @I U2 TTeenT H WG @1 ST 27 977
Options :
1. % ugar
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Question Number : 38

Correct : 2 Wrong : 1

Who amongst the following was awarded the "Prestigious Man Booleer Prize" i 20147
Options :

1. ¥ Karen Jay Fowler

~

. # Joshua Ferris

# Neel Mulkharjee
4. % Al Smith

+ Richard Flanagan

L

Lh

Question Number : 38

Correct: 2 Wrong : 1
Toriena # & e 2014 ¥ "UTATET A9 g qRewr” & |raTiHa T 1T

Options :

1. ® T S e
R Srge tieE
R ey
% e e
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Question Number : 39

Correct : 2 Wrong : 1

Tropic of Capricom does not pass through which of the following countries?
Options :

1. * Brazl

2 % Anstralia
k-

Led

Argenting
- ¥ China
k-

I

south Africa

LA

Question Number : 39
Correct: 2 Wrong : 1

HeT T TTiene e 2ar € grep g1 1ata | 37

Options :

1 % g

2% afferferT
C# 3

VT
% ZignT e
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Question Number : 40

Correct : 2 Wrong : 1 .
www.upscstudymaterials.com
InFIFA 2014 World Cup, who won the Golden Glove award?



Options :

® ) www.upscstudymaterials.com
1. llcer Casillas

=

® shay Given
% Inlio Cesar
% Manuel Neuer

Ll

I

. % James Fodrguez

LM

Question Number : 40
Correct: 2 Wrong: 1

THITT 2014 Tereer 0 H, e Mies T Ted (Golden glove) TUERTT AT
Options :

1. ¥ aEad Higag

2R g e

% ST €

-V e —geR

® S
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Question Number : 41
Correct : 2 Wrong : 1

Which of the following cities 15 lenown ag the "Detroit of India™?
Options :
1. ® Bengaluru

2 ® Vishaldhapattanam

# Hyderabad

L

4 *® Blmhaneswar

5. % Chennai

Question Number : 41
Correct: 2 Wrong : 1

T # © T ST @ T 7 ST el ST 87
Options :

1% e

2. % TemEg A

% R

. e

VO

d= 0 La

LM

Question Number : 42

Correct : 2 Wrong : 1

Who won the [BSF World Billiards Championship recently held in Bangalore?
Options :

1. ¥ Ashok mhandilya

2. % Panleaj Advani

. % Neils Feijen

. ® Dennis Orcallo

. % HewenLi

[ O N

LA
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Question Number : 42
Correct: 2 Wrong : 1

T it el i T s R e pRnT i
Options :

1. ¥ arse aifEea

2. ¥ e amEamt

. ¥ e e

. ® 2T st

% X
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d= 0 L
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Question Number : 43
Correct: 2 Wrong : 1

Which of the following rivers 15 known as "Sorrow of Bengal" ?
Options :

] ® Bralumaputra Fiver

2. % Mahanadi River

# Godavari River

4. % KosiRiver

' Damodar River

L

LA

Question Number : 43
Correct : 2 Wrong : 1

Faegifrer 3 & R T Y ST T S et AT 27
Options :

1 ® ggE e

2. % wErar

BRI

- i AT

- IR

[ R Y
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Question Number : 44

Correct : 2 Wrong : 1

The minimum age prescribed for the post of President of India is:
Options :

1. % 18 Years

35 Years

43 Years

L

53 years

58 years

LA

Question Number : 44
Correct : 2 Wrong : 1

WA o T @ 0 o Ty rerfivg ~JAad g &

Options :
1. % 1gaf
2.9 35
. ® 43ef
4. % 537

Lsd
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Question Number : 45

Correct : 2 Wrong : 1

Who is known as the "Architect of the Indian Planning" 7
Options :

1. ¥ Jawaharlal Nehru

2 % Swami Vivelanand

Eatan Tata

Led

Dr. Bhimrao Ambedlar

ks
4 %
# Dr Abdul Kalam

LA

Question Number : 45
Correct: 2 Wrong : 1

T T 17 T 3 ATeq e o ® H ST AT 27

Options :

1. ¥ SETET /I AgE
1. ® Tt e &
® w@aeET

4, ® =7 fimE e
5 ® ﬁ-?-]c_x\:'_,‘ﬁm

L

:

Question Number : 46

Correct : 2 Wrong : 1

Which city of India is popularly It ak fGhrden Ciy'e
Options :

1. * Mumbai

2. % Dehradun

# Bhiopal

4 ® Luclnow

L

o Bangalore

Lh

Question Number : 46

Correct: 2 Wrong : 1
W o TRy 5T O AT & & TN 9T AET BT AT 87

Options :

1% g

(W] L3
® B

2
]

Question Number : 47

Correct : 2 Wrong : 1

India is the producer of wheat in the world.
Options :

1. ® largest

www.upscstudymaterials.com
2. % second largest P y



. #® third largest

(W]

www.upscstudymaterials.com
. *® fourth largest

% fifth largest

I

[

Question Number : 47

Correct : 2 Wrong : 1

W Terer § H 1 @7 [EEIGINS
Options :

1 ® aeaeT

2. e "o AT

. ® e wad T

% ofter e AT

. ® Tt Hewt F2T

J= L

L

Question Number : 48

Correct: 2 Wrong : 1

India's First war of Independence is also lmown as:
Options :

1. # Battle of Panipat

2. % Battle of Plassey

d Sepoy Mutiny

(W]

® matyagraha

=

% Pattle of Bugar

[}

Question Number : 48

Correct : 2 Wrong : 1

W T UIH TAT AT GUTH DT FTiend o & # 97 ST TM7 8
Options :

1 * grig a1 gg

B T ST AR

¥ R gt

% gegmmg

TR T g

o I T 1

LA

Question Number : 49

Correct: 2 Wrong : 1

Who founded Ramloishna Mission in 18977
Options :

1. ¥ Rabindra Nath Tagore

~

2. ¥ Swami Vivekanand

# ohri Aurohindo Ghosh

L

# Shri Ram Krishna Paramhansa

=

% Fajnarayan Basu

[}

Question Number : 49
Correct: 2 Wrong : 1
e 1807 H TTHgT THE & S0 &7

www.upscstudymaterials.com
Options :



1. ® e T
. Tt A
% oft amifEaT T
. % off T e AR
B TR T

www.upscstudymaterials.com

o A T N

[

Question Number : 50

Correct : 2 Wrong : 1

Which city is also lnown as "MW Mumbai"?
Options :

1. ® Eanpur

2 % Iangalore
. % Kochi
¥ Indore

% Pune

[ O N

LA

Question Number : 50
Correct: 2 Wrong : 1

TP AIET @ WY {ag @ ®0 § W S AT 87
Options :

1. ® e

2. % g

iR

V@R

% oy

d= 0 L

[}

Question Number : 51

Correct: 2 Wrong : 1

Which of the following temples of Chhattisgarh 15 also called "Khajuraho of Chhattisgarh"?
Options :

1. ® Ilahamaya temple
2 % Dindeshwari temple
L ® Pataleshiwar temple

4. * Puddha Mahadev temple

L

. ¥ Bhoramden temple

LM

Question Number : 51

Correct: 2 Wrong : 1

Options :

1. ¥ mgmHmET AfE

2% TEEmeT Al

- ® geepee Al

. ® g mEea Afw

VR ARy www.upscstudymaterials.com

d= L

[ ]



Question Number : 52 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

The freedom fighter Chhedi Lal, a barrister, was bormn in;
Options :

] ® Bliopal
2. ¥ plaltara
. *® Indore
R abalpur

% Gwalior

[ O Y

[

Question Number : 52

Correct : 2 Wrong : 1
TTAAT HATAT S IATeT, T el 0eet, 03l g

Options :

1% e

2. % AT #
Ty

R S H

- e

[ R Y

LA

Question Number : 53
Correct: 2 Wrong : 1

Raipur district of Chhattisgarh state shares its border with:

Options :
1. ¥ Durg District
E

=

Suloma District
Dantewada District

ks
4 % Korba District
ks

Led

LA

margiya District

Question Number : 53
Correct: 2 Wrong : 1

FATETTG T & T2 oot &l 0T & 1 8
Options :

LY i Rm e

2. % g S

3% ShaET e

4. % FrRaT g

:
!

Question Number : 54

Correct : 2 Wrong : 1

Which of the following festivals belong to Chhattisgarh state?
Options :

1. ¥ Goncha

) ® Jonjbeel mela www.upscstudymaterials.com



(W]

L ® Baishagu
L ® Bohag bilm

www.upscstudymaterials.com

I

[

% Chomanglean

Question Number : 54

Correct : 2 Wrong : 1

TgeET ® | D A7 U g eng o Srered & 7
Options :

1. ¥ T

. B ST HeT

. #

S IUNES

% T

o W T

L

Question Number : 55

Correct: 2 Wrong : 1
The first awardee of "Sunder Lal Sharma Honour" in Chhattisgarh state was:

Options :

1. ¥ Shrikant Goverdhan
2. # Arti Dhar
# Jhadu Ram Devgan

L

4. % pshish Arora
¥ Vinod Kumar Shulda

Lh

Question Number : 55

Correct : 2 Wrong : 1

TG T B "X A AT GIT 0T @ dlel T i o
Options :

1. % ofid M

2% AT Ew

. ® oz T game

% s smisT

R W

LA

Question Number : 56
Correct: 2 Wrong : 1

Who was the first Spealeer of Chhattisgarh assembly?
Options :

1. ¥ Mr. Rajendra Prasad Shulda

2. % Mr. Nand Kumar Prasad

# Mr. Mahendra Bahadur singh

4. % N Dwarlea Prasad Mishra

# Mr. Naresh Chandra singh

L

Lh

Question Number : 56

Correct: 2 Wrong : 1
TG TP TAEHT o TIA Terel e 2reey S 47

www.upscstudymaterials.com
Options :



1. ¥ =t Tt T, S
. ¥ oft 9 AR TS
% s v v
4. % off greaT TS T
® ot qear =g OE

-3

L

LA

Question Number : 57

Correct : 2 Wrong : 1

mwat Viveleanand Airport 15 located at;

Options :

1. ® Bilaspur
2.9 Faipur

L ® Jagdalpur
. ® Korba

[ O N

LA

L ® Fajnandgaon

Question Number : 57

Correct: 2 Wrong : 1
ATt e gars g7 R &

Options :

1 % e #
2. ¥ TR H

- Ea
R g H

- TreETe o

d= 0 L

[}

Question Number : 58
Correct: 2 Wrong : 1

Where is the High Court of Chhattisgarh located?

Options :

1. ® Faipur
2. ¥ Bilaspur
. ® Korba

- % Bhilai

L ® Durg

[ W

L

Question Number : 58
Correct: 2 Wrong : 1

Options :

L *® g H
2. ey #
- ® e
® T
B g

d= L

[ ]

Question Number : 59

www.upscstudymaterials.com
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Correct: 2 Wrong: 1

Chhattisgarh shares its border in the sast wath:
Options :

1. ® Uttar Pradesh

7. %

www.upscstudymaterials.com

Andhra Pradesh

# N\aharashtra

L

4 ® Iladlrya Pradesh
5. ¥ Odisha

Question Number : 59

Correct : 2 Wrong : 1
TG @l HAT 05 § T2d1 &
Options :

1. * FovwEaH

2% amrmEa

R mRE

4 ® mmuEa T
sz

Lsd

LA

Question Number : 60
Correct: 2 Wrong : 1

The "Member of Legislative Assembly" from Chhattisgarh who took oath of Chhattisgarh assembly i Sanslert was:
Options :
1. ¥ Nand Kumar Sai

2% alryama Charan Shulda

Fam Dayal Uddalce

L

]
4, % Ajit Jogi
ks

Pradeep Gandlu

LA

Question Number : 60

Correct : 2 Wrong : 1

"EEITETS TeeITerdT & Tae", g (- Oegd H SoiaTg Terel =T &7 S1er &l

Options :
1. ¥ 9 guT AT

=

® g = ST
% T I
4. % arfiT S0t
® g melt

L

Lh

Question Number : 61

Correct: 2 Wrong: 1

Chitralcoot wraterfall 15 in which district of Chhattisgarh?
Options :

] ® Fajnandgaon district

2. ® Korba district

3. ¥ Bastar district i
www.upscstudymaterials.com



4 ® Bilaspur district
5 ® Faipur district

www.upscstudymaterials.com

Question Number : 61

Correct: 2 Wrong: 1
e ST gt o fone et # 27

Options :

1. % T o
2. ® wiET e

. gt Be

. ey ST
B T e

d La

[

Question Number : 62

Correct : 2 Wrong : 1

The first Chief Minister of Madhya Pradesh was:
Options :

1. ¥ Digvijay Singh

2. ¢ Pt Ravi Shankar Shulda

. % Madhav Rao

% V.0 Shulda

[R]

e

. % Nand Kumar Sai

L

Question Number : 62

Correct: 2 Wrong : 1
HE U o TIH e o

Options :

1. % i oy
2. ¥ O TR e
% TR

R T g
® A A ETs

d= 0 La

[}

Question Number : 63

Correct : 2 Wrong : 1

Which of the following towns of Mahasamund district of Chhattisgarh was visited by Heung Tsang in the ?th century?
Options :

1, ¥ Sirpur

2. % Kabirdham

® Aambilsapur
4. % Alhiwara

® Faigarh

L

Wh

Question Number : 63
Correct: 2 Wrong : 1
TG o TETHYE, Tt @ TgTehd ohel 8T 91 & |07 = 7 & dleg! H A1 617

Options :

1 ¥ R

www.upscstudymaterials.com



L2

® e
# srfEem
4. % grfgamr

® e

www.upscstudymaterials.com

L

Lh

Question Number : 64

Correct: 2 Wrong : 1

Kawardha district was bifiwcated from which of the following districts?
Options :

] ® Sarguja district

L ® Koriyva district
% Faipur district

L

4. % Bastar district

Lh

v Fajnandgaon district

Question Number : 64

Correct : 2 Wrong : 1

rerell AT e # 8 T il &1 feTior @ sie fema mam
Options :

1. % e e

2% v ST

- T S

% gy e

- g e

[ O N ]

LA

Question Number : 65
Correct: 2 Wrong : 1

Patal Bhairav MWandir and Bhageshwari Mandir are located in~ district.
Options :

1. ® Surgya

~

2 v Surafpur

[N ]

. ® Palra mpur

L ® Jashpur

~ #® NMahasamund

I

[}

Question Number : 65

Correct: 2 Wrong : 1
T e HiaT ol WHTgeT Afaw feoT & IECE

Options :
| ® GIEN
2. ¥

[ ] S L
¥ B B
% cg .
5

Question Number : 66

Correct : 2 Wrong : 1 www.upscstudymaterials.com

Shivnath river 15 a tributary of:



Options :

o www.upscstudymaterials.com
1. % Mahanadi river P y

=

* Codavari river
® Indravati river

4 % Hasdo river

L

% Rihand river

Lh

Question Number : 66
Correct: 2 Wrong: 1

TaraTeT AT TR S U He @ Aal o

Options :

1. ¥ mETear
- ® Tt T
B -CACE ik B
¥ Tz

e A T N

[

Question Number : 67

Correct : 2 Wrong : 1

In Chhattisgarh, the Tropic of Cancer line passes through which of the following districts?
Options :

1. ® Faipur district

2 ® Bilaspur district

3. ® Korba district

4. & Surguya district

L ® Fajnandgaon districts

L

Question Number : 67

Correct: 2 Wrong : 1
TRTETg B Ten (a1 g | foe ST € g e T 27

Options :

1 % [ e

. ey ST
. % wieaT e

- T e
T e

o A T N

[}

Question Number : 68

Correct : 2 Wrong : 1

The follz dance song on Heroism of Chhattisgarh which is also known as Lolg Ballet is:
Options :

1. * Resh

2 % Lenjja
* Gaura

4 * Bilma

L

¥ Pandwani

A
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Question Number : 68
Correct: 2 Wrong : 1

TIETTE i SETGAT o Herel H FIeh o2 Tiid T #lieh Jed--1eh Wi Bel ST 6,78 &
Options :

1. % e

2. % o

C® T

4. % Temr

Y qEarT

www.upscstudymaterials.com

[N ]

[ ]

Question Number : 69
Correct: 2 Wrong : 1

The famous hindi poet "Padwmnlal Punnalal Baleshi" belongs to which district?
Options :

1. ® Korba district

2. v Fajnandgaon district

L ® Bilaspur district

"

(]

=

Surguwja district

L ® Faipur district

[

Question Number : 69
Correct : 2 Wrong : 1

g e iel "TerelTer TgTenTer st Temer et & waite 27
Options :

1. % i e
2. ¥ T e
% ey ST
% T e
- T S

[ R Y

LM

Question Number : 70
Correct: 2 Wrong: 1

The coldest place of the Chhattisgarh state 1s:
Options :

] ® Champa

2. v Aanbilapur

. % Bastar

. ® Rajim

L ® Jagdalpur

[ O Y

[

Question Number : 70
Correct : 2 Wrong : 1

TAIETG TT=2] 0T Telel ST T &
Options :

1. ¥ zmr

2. ¢ aiferamge

3. % geae

4. % gfm

www.upscstudymaterials.com
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Question Number : 71
Correct : 2 Wrong : 1

First WMaratha riler of the Chhattisgarh state was:
Options :
1. ® Famaraja

~

1 % Pratap Singh Bonsale

Led

# slhivaji Bonsale
R Bimbaji Bhonsle
. ® Tulwji Rao

I

LA

Question Number : 71
Correct: 2 Wrong : 1

TG (T3 o [T AXTaT e o
Options :

1. % [T

2. ® qa TEg wiee

3. ® T3 wieer

4, ¥ e wiheer

¥ g

[

Question Number : 72

Correct : 2 Wrong : 1

The first Alcashwani relay centre 0F Wie Uhhaitisga® stacs was(esebhyled i
Options :

1. ® Aambileapur

2. ¢ Faipur

L ® Durg

. % Korba

. % Bhilai

J= L

L

Question Number : 72
Correct: 2 Wrong : 1

T TG {120 T TIA TSmO O g H FITie T2 T

Options :

1. * aifeemge &
2. ¥ T
B R

- ® grard
% R

d= 0 La

[}

Question Number : 73
Correct : 2 Wrong : 1

The wildlife sanctuary in Mahasamund District of Chhattisgarh is:
Options :

1. ® Achanalomar wildlife sanctuary

2. % Udanti wildlife sanctuary wwww.upscstudymaterials.com



R Barnawapara wildlife sanctuary
# o
. ]

(W]

www.upscstudymaterials.com

I

ttanagl wildlife sanctuary

. ® Indravati wildlife sanctuary

[

Question Number : 73

Correct : 2 Wrong : 1

TG T3 o HeTalg ool H awaeiie SRR &
Options :

1. ® SEHHT ava=ie SR

1 # It aeeE AR

- AT Fw2rete SR

(]

® T St AT

- ggrEdT gt SR

e

L

Question Number : 74

Correct: 2 Wrong : 1

As per census 2011, the literacy rate of Chhattisgarh is greater than which of the following states?
Options :

] ® Gujarat

2. % Maharashtra

. % Kerala

R Fajasthan

. ® Himachal Pradesh

d= 0 La

[}

Question Number : 74

Correct : 2 Wrong : 1
2011 T FHATOET & SJER, TS 6T GIeRAT 3¢ g # & = T & ife 87

Options :

1. ® T

PR
i

L
#®
E.

Question Number : 75

Correct: 2 Wrong : 1

Who won the [MG Reliance jEth Federation Cup Mational Basketball Championship-Women?
Options :

1. ¥ ONGC Women

1 % Failway Wotnen

3. # Karmnatala Women

4. & Chhattisgarh Wormen

. ® BHEL Women

[ ]

Question Number : 75

Correct: 2 Wrong : 1

28 AT IMG Tt e (e o0 TET aecheelel o b e i EenaIg kb 7

Options :



1. ® ONGC AfgeT
2. ® o Aigem

3. ® gafew AT
4. ¥ geitaTg wiga
5. % BHEL ATgal

www.upscstudymaterials.com

Aptitude Test

Number of Questions: 75

Question Number : 76

Correct: 2 Wrong : 1

Pointing to Shailesh, Chitra said, "He is the son of my father's only son". How is Chitra related to Shailesh's mother?

Options :

1. ¥ Sister-in-law

2. % Sister
#® punt

4 ® Dauglter
# Mother

L

Lh

Question Number : 76
Correct : 2 Wrong : 1

SeTe T #TC Hebd e EU Tl = R T o, ey A T 1 8 UBATS T ol 7 & TRrE W s o HIaT o e T e 77
Options :

1. ¥ 392

2. % g

[ O N
¥ OB
9 3

LA
¥

Question Number : 77

Correct: 2 Wrong : 1

F.ead the mformation given below and answer the question that follows:

[} P is the father of R but E_is not his son.

I} 5 is the davghter of R and the Spouse of T.
IIT)y Q is the brother of B, W is the son of Q.
IV U is the spouse of Q, V is the mother of UL

Who is the grandmother of W7
Options :
1. ®p

=
#
=

Led
®
A2

® T www.upscstudymaterials.com

LA



Question Number : 77 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

e T TS AT 08 3T 36 aTg, 1o T 0 @7 37 o -

I) P, R T TUAT & Tq R 39T 07 &1 &l
I} S, R ST QT 8 8T T &7 U=t 2)

III) Q, R AT HE &, W, Q T I ¢
I'Vy U, Q T Uam &, V, U & 71T 21

W T I @ 87
Options :
1. %P
2. %R
*Q
4 ¥y
® T

L

L

Question Number : 78

Correct : 2 Wrong : 1
For the following questions, choose the answer that best completes the comparison.

Terminate : End - Sudden 7
Options :

1. * Gradual

7. % Expected

¥ Abrupt

% Delayed

* Late

oW

L

Question Number : 78

Correct : 2 Wrong : 1
ToienT wet & oy, ag 3¢ o+ ST QAT T\ S & quf T gl

HATH AT 31 3=EE 7
Options :
1. % i

-

TET

kil

(]
# 8 § %
3

L

Question Number : 79

Correct : 2 Wrong : 1
For the following questions, choose the answer that best completes the comparison.

164006 - 457
Options :

1. ® 42875

2. % 86625

www.upscstudymaterials.com
3. ¥ 01125



4 % 160875

www.upscstudymaterials.com
5. % 166375

Question Number : 79

Correct: 2 Wrong: 1
TrraTfer wegt & o0, g 3O o ST AT T HePAE &I & quf AT g h

16:4096 45 :7
Options :

1. % 42875

2. % 36625

3. ¥ 01125

4. ® 160875
% 166375

[

Question Number : 80
Correct : 2 Wrong : 1

For the following questions, choose the answer that best completes the comparison.

Contemplate : Scorn & Apathetic 7
Options :

1. * Cold

2% Mo o1y

R Fesponsive

Ll

% Untouched

I

~ #® Pagsive

LM

Question Number : 80
Correct: 2 Wrong : 1

TR wedt & ToIg, o 3¢ I S erT ol S S Ouf AT g
T : favemT g7

Options :

1. ® e
2. ® g
R argan
% T

[ O Y

[

Question Number : 81

Correct : 2 Wrong : 1

Ifin a certain code language SAMNSERIT is coded as HZWMHP IR G, then how would GERWMAN be coded in the same code language?
Options :

1% SVINZM

2. ¥ TVINZM

® TWINZM

® SWINZM

L

=

® TWINZM www.upscstudymaterials.com

Lh



Question Number : 81 www.upscstudymaterials.com
uestion Numbper <

Correct : 2 Wrong : 1

aﬁﬁ‘m’raﬁwgﬁ SANSKRIT @1 g ®0 # HZMHPIRG ToaT ST 51 97 36T e WHT # GERWAN w1 $he ®0 § &7 Totar =g
Options :

1. % SVINZM

2. ¥ TVINZM

® TWINZM

4. ® SWINZM

® TWINZM

L

LA

Question Number : 82
Correct : 2 Wrong : 1

Ifin a certain code language EUROPE iz coded as QRGGWT, then how would EUSSIA be coded i the same code language?
Options :

1. % UKCTUW

2. % UCKTUW

- ® UCKTW

Y UKCTW

. ® UCKUTW

[ Y

LA

Question Number : 82

Correct: 2 Wrong : 1

i et e waT # EURCPE @1 e &0 # QRGGWT ToiaT ST g1 o1 39T gie Arar # RUSS1A @7 fe 0 # =1 ferar =mam?
Options :

1. ® UKCTUW

2. ® UCKTUW

% UCKTW

Y UKCTW

. % UCKUTW

d= La

[

Question Number : 83

Correct : 2 Wrong : 1

Find the missing termy(s) in the series given below:

25,7,32,7,37,10,47, 11
Options :

1% 4

195

i

L

4 %

]
5]

® 0

Lh

Question Number : 83

Correct: 2 Wrong : 1

el &1 TS ST # SURSE U (U9 AT ST S W

25,7,32,7, 37, 10,47, 11
Options :
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B
® <
2 Lh

LA
#
b =]

Question Number : 84

Correct : 2 Wrong : 1
Find the missing termy(s) in the series given below:

D.W,LR. 7,7, Y.B
Options :

1. ¥ M N

2. ¥ P K

% Q.1

% 0,1

® TG

J= L

L

Question Number : 84
Correct: 2 Wrong : 1

=it 1 TS SIeT H SIUTEdT Ug (U AT ST A1

D,W,LR, 7,7, V.B
Options :

1% M N

2 v p K

% Qs

% oL

C® TG

d= 0 La

[

Question Number : 85

Correct : 2 Wrong : 1

Below iz given a question followed by two statements numbered I and II. The question may or may not be answered with the help
of these statements. You hawve to decide if these statements are sufficient to answer the question.

Question: What is the age of Suparna?

Htatements:
. Suparna can vote in upcoming General elections.
II. Suparna has applied for her driving license this year.

Options :
1. ® Only statement I , alone, is sufficient but statement II is not.

2. % Both statements [ and 11 together are sufficient but neither statement alone is sufficient.
3. ® Fach statement alone is sufficient.

4. ¥ Statements I and II together are not sufficient.

LM

L ® Only statement I, alone, is sufficient but statement [ 15 not.

Question Number : 85
Correct : 2 Wrong : 1 www.upscstudymaterials.com



it g wey Te TR & e g S e [ efN [ Teu o # 5 Gl T ST T T T T THAT ST AR e =T
AT 21 m%ﬁmw%ﬁﬁnammaﬁwg%ﬁw%%@;ﬁﬁ“

e - HuuT T ST AT 87

P

1. GOl 3T T 3T ATE! # A 2 He T A

I1. GO = S8 o 310 TS el ATSed o Toy aMeg T 21

Options :

1. % et e [ et B Ui 7, T e 11 o Rt 2

2% FiAt @ 1 11 T 09 o UiE & R S o @iE T U e S 0 e f)
3. % el e A UiE

4. ¥ o 1 3fY 11 grer e e uarig 9t 8

- % e wer 11 el B UA &, TR e [ ot e )

[

Question Number : 86

Correct : 2 Wrong : 1

Below iz given a question followed by two statements numbered I and II. The question may or may not be answered with the help
of these statements. You hawve to decide if these statements are sufficient to answer the question.

Question:
Preeti's and Taruna's salaries are in the proportion of 5 : 8 respectively. What is Preeti's salary?

Statements:
. Taruna's salary 15 62.5% that of Preeti's salary.
II. Taruna's salary is Es 10,500

Options :
1. ® Only statement [, alone, 14 gulflodend bk ptatEned 1)1 do,

-

. % Poth statements I and II together are sufficient but neither statement alone is sufficient.

# Each statement alone is sufficient.

L

4. ® Statements I and II together are not sufficient.

5 COnly statement 11, alone, 15 sufficient but statement [ is not.

Question Number : 86
Correct: 2 Wrong : 1

et e me T T o ag o s 1 A 11 TET T 81 59 @it & SETaaT © e @7 36 T o ST SRTET Al faar | v
HAT 51 HTTRT g 01 AT & TF 0T T X ol o 1ol 2 o2 O0iH & 27 gl

ug:
TS 31T T2 o ed hHen 5 8 @ U | 81 Witd @7 dad T g7
T

1. TE0T T efd A, W o da o7 62.5% &1
I1. T%07 T a- & 10,500/- &

Options :

1. % e e [ aRher 5 TR 2, T et 11 Tt at

2. % it e 1o 11 |ner e o uiie & T St 8 ¥ 918 Y U e S5 0 e a
3. % oI @Y S T F

4, % T [ 3fiY 11 T T e 0l 2T 2

7 e e 11 s 2 Oie 2, R e 1wt T R

LM

Question Number : 87

Correct : 2 Wrong : 1 www.upscstudymaterials.com



Below is given a question followed by two statements numtne:tetcl andtII he question may or may not be answered with the help
of these statements. You have to decide if these stattiueie ATe SIYAGEN! 10 Answer the question.

Question: What day of the weelt 15 today?

Htatements:
I. Today is Nowvember 25.
II. January 1 was a Monday.

Options :
1. ® Only statement I , alone, is sufficient but statement II is not.

~

2. % Both statements [ and 11 together are sufficient but neither statement alone is sufficient.

% Fach statement alone is sufficient

L

4. ¥ Statements I and II together are not sufficient.

# Only statement I, alone, is sufficient but statement [ 15 not.

Lh

Question Number : 87

Correct: 2 Wrong : 1

et uer we T e o g o @ A 11 TS T 81 59 Tt O ae T T o e @7 S T ol ST ST Al ar |r
HHAT 51 HTORT g 0T AT & Tof 0T T X ol o 1ol 2 T O0iF & o7 gl

TeT : AT |HTg T i &7 7o 27
P

1. 31T 25 e &

I1. 1 Serdt @ HHeTT 4m

Options :

1. ® el @i [ st 81 U=niA &, g @ 11 Oate gl 8

2. it e 1 e 11 g Torer dvy el g ferieg it im0y e bt R A
3. %® Ucde e e T f

4. % a1 afY 11 9rer et e uarig 928t 8

# el e 11 31t 51 0 &, T @ 1 Ui Tl f

Lh

Question Number : 88
Correct: 2 Wrong : 1

Below 15 given a question followed by two statements numbered T and [1. The question may or may not be answered with the help
of these statements. You have to decide if these statements are sufficient to answer the question.

Question: What 15 the length of WIN?

Statements:
[ WM i5 a chord of a circle of radius 25 cm and it is 7 cm away from the centre of the circle.
II. WM is a tangent to a circle of radius § cm at 1M and the distance of M from the centre of the circleis 17 cm.

Options :
1. ® Only statement [, alone, 15 sufficient but statement I 13 not.

~

2. % Both statements [ and 11 together are sufficient but neither statement alone 15 sufficient.

. % Each statement alone is sufficient.

L

4. ® Statements I and II together are not sufficient.

A

® Only statement 11, alone, s sufficient but statement [ is not.

Question Number : 88

Correct: 2 Wrong : 1
www.upscstudymaterials.com



it g wey Te TR & e g S e [ efN [ Teu o # 5 Gl T ST T T T T THAT ST AR e =T
AT 21 m%ﬁmw%ﬁﬁnammaﬁwg%ﬁw%%@;ﬁﬁ“

T NN &t waE Rty 27

-

I MN, 25 &t e amet e o &t e 2 it R g g @ 7 it g 2

I1. NN, 8 ST e Tl g @ N W eqdf-taEr g aﬁrqa%ﬂ:—c{ﬁmgqﬁ 17 "AT 71

Options :

1. % el @ [ et 21 Uie &, i @ 11 Ot Tl g

2% T e 1T 11 AR T @ Ui & g St H @18 T Uw B st uaie Tat gl
4. % w1 3fT 11 ey T o Ui AR f

. et e 11 el 51 09TH &, g e 1 U=iA gl E)

LA

Question Number : 89
Correct: 2 Wrong : 1

Below 15 given a question followed by two statements numbered I and II. The question may or may not be answered with the help
of these statements. You have to decide if these statements are sufficient to answer the question.

Question: If the first term of a sequence is 0 and the second term is 1, is the fifth term 27

Statements:
I. Each odd mumbered tern i3 either 0 or 2.
II. The thard term is 2.

Options :
] ® Only statement [, alone, 15 sufficient but statement I1 15 not.

-

2. % Both statements [ and 11 together are sufficient but neither, statement alone is sufficient.

. % FEach statement alone is sufficisit

(]

4. ¥ Statements I and II together are not sufficient.

L ® Cnly statement 11, alone, 15 sufficient but statement [ is not.

[

Question Number : 89
Correct : 2 Wrong : 1

el e we T T e ag g e 1 A 11 a0 T 81 59 St & 9ETIaT € e o7 J6 T o1 ST p SRTET Al e T |r
AT 51 HTTRT g 01T AT & TeF 0T T IoX o o 1ol 3 o2l O0iH & 397 gl

W 1 TRt SIged T Uget Ug 0 BT 37T et ug | BT o wieen ug 2 &7

o

1. Te2er TamH @0 OF 31T aTelT 02 0 37 2 31

I FeRTOg 2 8

Options :

1. ® el @i [ st 81 U=niA &, g @ 11 Oate gl 8

2. % FIt w1 o 11 T T o Ui & R S H E wiE W Ue e S 0y e Al
3. %® Ucde e e T f

4. % a1 afY 11 9rer et e uarig 928t 8

- % raer e 11 el 5 00TH &, o @ 1 U=iA gl E)

[ ]

Question Number : 90
Correct: 2 Wrong: 1
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Below is/are given statement/s followed by (two) conclusions. Take the 5?1

scat the Buyen statement/s to be true, even if they contradict
commonly kmown facts, and determine the conclusion/s i fulfgc%ﬂ]y e

DWJ%OH]DIH the statement/s.

Htatementis):
I All guitars are sitars.
II. All sitars are santoor.

Conclusions:
[ Al guitars are santoor.
II. All santoor are sitars.

Options :
1. ¥ COnly conclusion I follows.
1 % Only conclusion IT follows.

# Fither conclusion I or conclusion 11 follow

L

4 % Both conclusion I and conclusion 11 follow.

% MNeither conclusion [ nor conclusion 11 follows.

Lh

Question Number : 90
Correct: 2 Wrong : 1

et T Te T 8en 0 e ae of Aved few o 81 TaU T @ @ "o A, AT dEfd ST A9 9¥l & e # g
T T, 3T g/ et TerT e AT /T T a1l € © Ol T a/@id gl

T (T 2T SATENR)

I g e, faw 8

11 &t AT, |97 8

T -

I &if e, &7 8l

11, T |qY A )

Options :

1. % Trgel et [ OTei edT 2

2. ¥ e T 11 e T T )

% 1 et 1 Toee e 11 oTer e 8
Tt e 1 e e 11 uTer @ 2l
R g7 e 1 #f T 2 e 11 oo s B

[ O N

LA

Question Number : 91
Correct: 2 Wrong : 1

Below isfare given statement/s followed by (two) conclusions. Talee the given statement/s to be true, even if they contradict
commonly known facts, and determine the conclusion's that logically follow/s from the statement/s.

Statementis):
[ Al gladiators are shoes.
II. Some boots are shoes.

Conclusions:

I Al shoes are not gladiators.

II. Some shoes are not boots.

Options :

] ® Only conclusion I follows.

2 ® Only conclusion IT follows.

3. # Fither conclusion [ or conclusion 11 follow.

4. ® Both conclusion I and conclusion 11 follow. www.upscstudymaterials.com



5 % Neither conclusion I nor conclusion 11 follows, .
wWww.upscstudymaterials.com

Question Number : 91

Correct : 2 Wrong : 1

et e Te T §TET T o ae of A few T 81 T Y e @ "o A, AT aa/d ST J19 92l & e # gl
T AT, 3T ag/e et TAPerT @ ST /T T a1l ® ° Uel T a/@id gl

T (U AT SATEE
1. FT TifereT, < 8l

11 T7 2, 4 ¢
Sl

L it i e At A
1L 97 4, 77 T &

Options :

1. % el o [ oTe HedT 2]

2. % Grerel T 11 OTerT a2

7 At et [ o et 11 g7 T 2
% Ft T 1 e et 11 oTe s 8
VT e 1 fte 7 g R 11 oTere a2

d= L

[ ]

Question Number : 92

Correct: 2 Wrong : 1

Below isfare given statement/s followed by (two) conclusions. Take the given statement/s to be true, even if they contradict
comumnonly lmown facts, and determine the conclusions that logically follow/s from the statement/s.

Statements:

[. Al laptops are desldops.

II. Al deslctops are expensive.
III. All expensive are electronics.

Conclusions:

[ Al laptops are electronics.

II. A1l desldops are laptops.
Options :

1 ¢ Cnly conclusion I follows.
2% Only conclusion IT follows.

# Fither conclusion I or conclusion 11 follow

L

4. % Both conclusion I and conclusion 11 follow.

# MNeither conclusion [ nor conclusion 1T follows.

LA

Question Number : 92

Correct : 2 Wrong : 1

el T To T §en 0 e ae of v few o 81 T Y e @ "o A, AT dEfd ST A9 92l & derer # gl
T HT, 3T Fg/d ey e e =7 /=1 @1 1l €0 & UTel @edT afdtd ol
A

1. §9T elUe T, €l 2l

I1. Tt S¥e@a 1T 75T 21

111 &t Agrit =t gerag T 2

Tereant -

1. &7 UE T, Seiae (17 o]

I1. Tt STaeT, i 2]

Options :

1% Frerer TS 1 OTeT eaT B www.upscstudymaterials.com
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2. % e e 11 T AT Bl

% 73 e [ 2 T e 11 OTe T 2
% it fowand 1 st e 11 e @ 2
R 7 T [ 3fiT 7 £t Twan 11 o7e o 2]

www.upscstudymaterials.com

J= L

L

Question Number : 93

Correct: 2 Wrong : 1

In the following question(s). symbols V. A, 8. aand Pare used with different meanings as
follows:

"X 8Y'means 'X is not smaller than Y.

"X AY'means X 1s neither smaller than nor equal to Y.

"X BY'means "X is neither smaller than nor greater than Y.
"X VY means 'X is not greater than Y.

"X aY'means 'X is neither greater than nor equal to Y.

Mow assuming in each of the following questions the given statements to be true, find which of the given conclusions given below
them isfare defimtely true and give your answer accordingly.

Statements:

I1JaQ
. Q AZ
1. Z 8R

Conclusions:

L.J AR
IZal

Options :
1. ® COnly conclusion I follows.
2 % Only conclusion IT follows.

% Fither conclusion I or conclusion 11 follow

L

4. % Both conclusion I and conclusion 11 follow.

 VNeither conclusion I nor conclusion 11 fallows.

Lh

Question Number : 93
Correct: 2 Wrong : 1

www.upscstudymaterials.com



rtifne weaA(E) &, 3 TAD Yl ufhcstoy Rienlls B ITANT PFAifhaTaR B
et & foar amm §

X oY & HTEF X Y T orer A6 &1

XAY @IFEFXTa Y qower ¢ i 3as R g
XBY aafgfFXaary d o g ik o saa s g

XV Y @& 3t g K Y a8

XaY ®ITgFXTaAY T Tz g 3R 7T 8 306 | gl

e TR et weF § T80 70 et @7 §ed AT g, S D¢ {07 I e 1350 my et # & o que e e & |
e 2/ AT TEJ9R 0T 308 4

EE]

T
W T

. Z 8 R
B

. J AR
I Z ' J

Options :

1. * et THwad [ 07T T 2]

2. et T 11 0T AT 2]

%y A e 1 T e 11 oA T 2
% Tt T 1 ST T 11 OTe @ 2]
T T 1 T T 21 e 11 oTe et 2

L = Ll

Question Number : 94
Correct: 2 Wrong : 1
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In the following question(s). symbols \EmﬁpsgstuWeﬁa@&HﬁEd with different meanings as

tollows:

M AN'means ™M 1s not smaller than N'.
'™ aN' means M 1s neither smaller than nor equal to N'.
'™M 8N'means M is neither smaller than nor greater than N'.

'™ VN'means ‘M is not greater than N
'™ BN'means M is neither greater than nor equal to N'".

Mow assunuing in each of the following questions the given statements to be true, find which of the given conclusions given below
them isfare definitely true and give your answer accordingly.

[b] Statements [ /]
1.Q®es
I.SVD
III. V aAD
[b] Conclusions:[/b]
1LQeV
.V aQ
Options :
] ® Only conclusion I follows.
2 ® Only conclusion IT follows.

% Fither conclusion I or conclusion ] follows

(]

% Roth conclusion I and conclusion 11 fallaw,

I

% Neither conclusion I nor conclusion 11 follows.

[

Question Number : 94

Correct : 2 Wrong : 1
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3T F RRar T §
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MaNHFATEHF MaarNTower g dRF & 305 =T &'

MO NHFITERFMaTar N ¥ oler & 3Rk 7 & 399 a3 &'

'™V N & 3T E M, N & a6
MBNFINEgFMITANTFTEINNRA 305 | EI

el T Wedie W § T80 70 et @1 6o A g, F19 B¢ Toh I e 130 my vt # & o ave e e & |

e 317 T TS 30T 308 o)
-

LQe s
LSV D

. V.- a D
et
. Q OV

. V a Q

Options :

1. % Frarer THmamd [ 01T 9T 2]

2. % et TR 11 o7 e |

- i o 1 T T 11 OTe e 2
% Tt T 1 S Twed 11 OTe @t 2]
% T Tt 1 it 7 21 e 11 oTeT et 2

L S Ll

Question Number : 95
Correct: 2 Wrong : 1

Piclk the odd one out from the given options.
Options :

1. ® Google Chrome

2. ¥ WIS Office

. ® Firefox

L ® Opera

%3

[ ] N Lia

afari

Question Number : 95

Correct: 2 Wrong : 1

T Ty Tt # & 9 e o
Options :

1. ® e wm

1 ¥ o AT

I
#®

R

=

4. ® gt www.upscstudymaterials.com
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Question Number : 96
Correct : 2 Wrong : 1

Picle the odd one out from the given options.

S W B

€& B u

N

L | [ e

—_ L | L } [
J L ) (W]

#® 2153

LA

Question Number : 96
Correct: 2 Wrong : 1

o0 My Tt § | e Tewen o)

Options :

1. % 1087
1 % 1403
3. % 1600
4 % 1017

#7153

[

Question Number : 97

Correct : 2 Wrong : 1

Picle the odd one out from the gzl \options.
Options :

1. * Combat

7 ® Vendetta

R Tranogquility
C® Tymutt
% Feud

d= L

L

Question Number : 97

Correct: 2 Wrong : 1
T Ty Termeat H # e e gH

Options :

1. %
2. % yiarrer
& it

. ® PR
R T

= L

[}

Question Number : 98
Correct : 2 Wrong : 1

If W+ mieans that ‘W is the brother of '™ DM means that ‘D s the mother of ‘N TWEN' means that ‘T is the father of
T and TN means B s the sister of '™, then which of the following means Q' is the nephew of 'B' 7

Options :
1. ® D+5xzk www.upscstudymaterials.com



]

- ® QuR+5
Y R4+5xz0Q

¥ R-5+Q
w

www.upscstudymaterials.com

(]

e

note of these

Lh

Question Number : 98

Correct: 2 Wrong : 1

2T S0 A e e = e 0 ) O 3 0 -0 Y 8 8 3 = 4 < O G O e - e e = A U W e o A
WM T AT & 1o N, N A &, 1 e H E T Aded g T Q! R T e T 87

Options :

1. ® Q+5xk
2% QzR+S
3V R+520Q
4 ®¥R.5-0Q
5. % gAHEDE Al

Question Number : 99

Correct: 2 Wrong : 1

In the following question, a portion from the [b]Problem fisure[/b] 15 missing. Complete the missing portion by selecting the
correct option from the [b]Response figures[/] (1), (20, (3), (4) and (5).

Problem figure:

@ s Odla al# als O
g Al# al|l# Ol Ol O ?
# ODl@e Ole O|& O|& a
Eesponse figures:
@ Ol@ O|# a|la DO O
& als a|@ Ol OOe O3
# Ola Ol& @ al#é &
(1) (2) (3) (4) (5}
Options :
L% (D
2% (0
3 % (3
4% 4
5. ¥ (5)

Question Number : 99

Correct: 2 Wrong : 1
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ﬁaﬁ;ﬁwﬁamw 3797 SITEET 2l ng%&%&gﬁh{gpia@@?&%ﬁﬁﬂﬁﬁﬁqiﬁﬁ@ﬂﬁ?mﬂﬁ@ﬁ
L) :

@ Ojls Oz alg aAlg O

g Al# Al DOl Ol O ?
# Ole Ol O|& CO|& a
Feax e :

@ Ol@ Ol ala Ol@e D

& 4la aA|l®@ 0O|lg Ola O3

# Ola D& OI® al#f &
(1) (2) (3) (4) (5]
Options :

1L®

L2

L

w
w

4 % (4
\;;2

"
|

h
L]

Pl
|
W

Question Number : 100
Correct: 2 Wrong : 1

In the following question, a portion from the Problem figure 15 mussing. Complete the missing portion by selecting the correct
option from the Response figures (4), (B), (C), (D) and (E).

Problem figure:

= X __>[X __+|=_a kA 0| l
+[J=l+[]-lo[J-|e[ [*|>[ x| -4
X ol=""ol= =" >l- +| ‘

Fesponse figure:

— U= > > =

>(=f+x|e x| ]x|+[]+

X +|—  o|- = X
(A) (B} (¢ (D) (E)

Options :
1 ¥ (&)
® (B

L2

L

s
OB B

r by
(Y
kY d
r'd -y
(T
.
p—
(E
kY -

Lh

Question Number : 100
Correct: 2 Wrong : 1
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ﬁ‘ﬂ'i'ﬁlﬁ'ﬁﬂiﬁﬂ%ﬁ?{ﬂﬂw 319 U Bl HM&%&@J&%&%&@&@ T & Eat Teldhod oA BT Auiedd 279 o qof &)
T :

. > X > X + = +|= o]
+O={+O-le - |o0Ix- x| 2
X O|= ol= -3 H e +

Jea} faer:
= Ol=__ = _F[+_ =[>v -
>[=+[ |0 [Ix|o[ x|+ [+
b4 + |— 2] - - oo

(A) (B) (€ (D) (E)

Options :

VN

2 % (B

3%

4. % (D)

5. % (E)

Question Number : 101
Correct: 2 Wrong: 1

In the following question, a portion from the Problem figure is missing. Complete the missing portion by selecting the correct
option from the Response figures (4), (B), (C), (D) and (E).

Problem figure:

+ == +| < -|= <l
< < <& Q
- > = X|= +|Q -

=

Fesponse figure:
A COlA OlA == AlA ©
(o]

i < < <&
O =|+ =|0 o|0O

(a) (B) (€ (B} (E)
Options :
1. ¥ ()
% (B
(C
(D)
(E)

B s
® B %

Wh

Question Number : 101
Correct: 2 Wrong : 1
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TerTera weg # weg o T U e Suiedd 8 HME‘%‘%&?‘J&%&%@&@ T8 TET TEweT g o U 309 @1 gof @)
yad &=

+ b4l +]| < == |0 =
< < < < <O 2
- > | Xl= +|0 =]A <
Jeax e

(A) (B) (€) (@) (E)
Options :
1LY (&)
% (B

® |XC\|

4 % (D)

®(E)

L2

L

A

Question Number : 102
Correct: 2 Wrong : 1

In the following question, a portion from the Problem figure is missing. Complete the missing portion by selecting the correct
option from the Fesponse figures (A), (B), (C), (D).

Problem figure:

AEIEIE

Fesponse figure:

B8 8| @

() (B) (c) (B)

=

Options :
1% (4
2% (B
%0

L

4. ¥ (D)

- # Cannot be determined

[

Question Number : 102
Correct : 2 Wrong : 1
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T, S 3 ot Tt T U Siey Siled 81 37 Tl (40, (), (0, (D) 1

rials.co

o e

98| 8

Seax e

BB & @

(A)  (B) (<) (D)

Options :
1L ¥4
1% B
®C

¥ D

=L

L

* uTH AR TerT AT g T

Question Number : 103
Correct: 2 Wrong : 1

Count the munber of "c" in the following string.

OCOCOCCOOOCOCO00COCOCCCOCOCOCOCOCCO00COocoC
Options :
1. % 18

1% 10

3.9 10
4 % 1
& AN

L

Question Number : 103
Correct: 2 Wrong : 1

TR ayer H et & T )

0COCOCCO00COCO00COCOCCCOCOCOCOCOCCO00COCOC
Options :
1. % 18
2% 10
Al
4. % 1]
® an

L

L

Question Number : 104
Correct: 2 Wrong : 1

Count the mumber of "n" in the following string.

ﬁﬁﬁ%ﬁ@ﬂﬂ&gﬁﬁaﬂaﬁ@ﬁ

mmnmnnnmnmomnmnummnmonnn SRR AT ™
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Rl
# S
[ —_—
—_ L

LA

Question Number : 104
Correct: 2 Wrong: 1

TR e | "'n" & TTid T e

I N T N T T I T T T T T i im
Options :
1. % 18
2.9 10
%10
4. % 1]
c ® oqn

Question Number : 105
Correct: 2 Wrong : 1

How many 0's are there in the following sequence which are inumediately preceded by 6 but not immediately followed by 97

D669069600960960060060
Options :

1. * One

2. ¥ Two

* Three

* Four

% Five

oL

[ ]

Question Number : 105
Correct : 2 Wrong : 1

TR SrgehA H ferd=1 0 U¥ & 516 &1 Ugel 6 & Torg ST arg # 0 51 27

D66906960960600600960
Options :
1. % om
2.9 Ty
W iE
% I

Led

=

e

(]

Question Number : 106

Correct: 2 Wrong: 1

How many digits are there which are etther immediately followed by a digit divisible by 3 or tnmediately preceded by a digit
divisible by 57

www.upscstudymaterials.com
04805288064 65268064
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s

i
=
T

LM
®
—]
£
[}

Question Number : 106
Correct: 2 Wrong: 1

Tt R aie O & o o A1 St AT #f 3 & TR o & 21T 1 UEet 5 & T s 27
BO04805288064652680964

Options :

1 ¥

2. % e

® g

L

4 % ax
®ar

Lh

Question Number : 107
Correct: 2 Wrong : 1

Study the following arrangement carefully and answer the question given below it.

[IVF=KPS5A0WO#MNQIJHAWO&!!T1IL43QS7LMO

How many such digits are there in the above arrangement, sach of which is immediately preceded by vowel and also inmediately
followed by a consonant?

Options :
1. % MNone
2. % Dne
3. ® Two
4. % Three
. % Four

L

Question Number : 107
Correct: 2 Wrong : 1

TR SereT Sy Ue 3T I Al T2 T 0 @7 3a% o
IVF=KPSSAOWO#MNQJHAWO&!!I1L43QS7LMO
TR ewyT H UF Tard - 3@ § T=H § Uoddar & 310 Ugel Ueh Ta¥ 7 31T 91 51 39 51 a1g H Ta 2= 9l &7
Options :

1. %* @78 7t

2 ¥

3% g

4 % 7

% g

LA

Question Number : 108
Correct: 2 Wrong : 1
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What would be the missing number in the cell with vaf\:lv queston 1

/:\
N Y
AN A

A

Options :
1. * 264
2% 268
39
4. * 178
5. % 281

Question Number : 108
Correct : 2 Wrong : 1

T H 0T o O T U8 ST ST a4 BT

/-\
7S
A

V

Options :
1. * 264
1. % 268
3.9 272
4. % 178
5. % 281

Question Number : 109
Correct: 2 Wrong : 1

17
.upscstudymaterials.com

What would be the nussing number i the cell with the question marle?

3 4 5
k1l 13 15
112 ? 200
104 144 190

Options : www.upscstudymaterials.com



1% 118

1% 137

www.upscstudymaterials.com
140
V153
% 166

d= L

L

Question Number : 109
Correct : 2 Wrong : 1

T H 0T o O T U SIS ST a9 BT
3 4 5
11 13 15

112 ? 200

104 144 190

Options :
1. % 118

1% 137

# 140

L

4 ¥ 153
® 166

L

Question Number : 110
Correct : 2 Wrong : 1

What 15 the greatest number which will divide: 4368, 6615 and 55057
Options :
1. %0
2% 1]
#oaz

L
i
Li

4. % 17

[ ]
[
0

Question Number : 110

Correct: 2 Wrong : 1

T HaH TS T TEAT FAT E T AL 5eg e dTod wril : 4368, 6615 3¢ 85057
Options :

1. *0

2% 1)

a2

L
i
[

w7

=
L

# An

L
1
LY

Question Number : 111

Correct : 2 Wrong : 1

Determine the remainder when 433jj 15 divided by 77

Options :

1. *0

1w www.upscstudymaterials.com
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[EN]

LA

Question Number : 111
Correct : 2 Wrong : 1

437787 T T 3 UT SOel ST ]
Options :
1. %7

1.9
ks

L
[ ]

4 %

(W]

® 4

A

Question Number : 112

Correct: 2 Wrong : 1

Determine the sum and the munber of all factors of 5400
Options :

1. % 0300, 18

2. % 13600, 18

¥ 138600, 48

® 0300, 48

# 37200, 18

d= L

Lh

Question Number : 112
Correct: 2 Wrong : 1

5400 o FHT TUEST T AT A TEIT AT B
Options :

1. % 0300, 18

2. % 18600, 18

. ¥ 18600, 48

4. % 0300, 48

# 37200, 18

[N ]

Wh

Question Number : 113
Correct: 2 Wrong : 1

Determine the factors of equation (aj +a - 20).
Options :

1. % (4,5

2. % (4,5

% |:-4 £

)

L

4.9Y (4,5

- % Cannot be determined

LM

Question Number : 113
Correct: 2 Wrong: 1

T (a° + & - 20) F UGS ST T

www.upscstudymaterials.com



Options :
1. ¥ (4,5
1 % ,_4 i

3 i &)

www.upscstudymaterials.com

- B o4 =
3. (-4, 5)

4. ¥ (4 .5
TP At RraT o g

LM

Question Number : 114
Correct: 2 Wrong: 1

The product of two postiive numbers 15 10388 and the quotient, when the larger munber 15 divided by smaller, 15 18, Determine the
sum of munbers.

Options :
1. % 400
2. % 400
3. ® 433
4, ¥ 456

% 404

[

Question Number : 114
Correct : 2 Wrong : 1

ST o HEATAT T A 10368 & R aS ! ST | gl ] §%dT € 9T o+ U W 18 81 il @7 I AT 3]
Options :
1. % 400
2% 471
% 433
¥ 456
. % 404

d= L

L

Question Number : 115
Correct: 2 Wrong : 1

Determine the walue of pla) = a{aj -3a+ 3)ata=1001
Options :
1. * 007003001

7 # pooooooog

;;;;;;;;;

-+ 1000000001

% oo7pp2008

(%]

I

~ % 007003000

[ ]

Question Number : 115

Correct: 2 Wrong : 1

a= 1001 T p(a) = a(a - 3a + 3) FT A AT T4
Options :

1. % 007003001

7 % pooopoooo

-+ 1000000001

~ % oo7002008

(]

I

% 007003000 www.upscstudymaterials.com
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Question Number : 116 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

Find the value of (73.56)° - (26.44)°
Options :

1. % 4875.88

2.9 4712

3. ¥ 463578

4. % 4343

. ® 4103563

[

Question Number : 116
Correct : 2 Wrong : 1

(73.56)° - (26.44)° &7 7 1T
Options :

1. % 4875.88

2.9 4712

3. % 463578

4. % 4348

. ® 423563

LA

Question Number : 117

Correct: 2 Wrong : 1

The average of first 15 multiples of 4 is:
Options :

1 # A

~
=

[N ]

w
v 1
w
S

[}

Question Number : 117
Correct: 2 Wrong : 1

4 o Ugel 15 TUTAT T A &

Options :
1. % 13

-

[N ]

]
o
]
s

L

Question Number : 118
Correct: 2 Wrong : 1

Find the value of = for the expression given below,

0:13:=x:01
Options :
| %7 www.upscstudymaterials.com



L2

-
® 4 ¥ %
= (W]
il O

www.upscstudymaterials.com

L
LN
Oy

Lh
[£a]

Question Number : 118
Correct: 2 Wrong : 1

it TaT T ot o T 2 @7 |19 1T @

0:13:x:9M
Options :
1. % 7

1 % 30

L

=
<

[

Li

LA
=

Question Number : 119
Correct : 2 Wrong : 1

If Monday falls on the third of the month, then which day will fall two days after the ESth of the same month?
Options :

1. ® Ilonday
2. % Tues day
. ¥ Thurs day
% Friday
® 3

(RN ]

I

aturday

LA

Question Number : 119
Correct: 2 Wrong : 1

T TR B e T ST B AT 3 WO A 253 Ry i 9 R ang e AT A B

Options :
1. % g
2. % eER

P
E

[ ] =
I

Question Number : 120
Correct: 2 Wrong : 1

If present age of Anshwman and Jagat are 18 years and 50 yvears respectively, then in how many years will Jagat be twice as old as
Anshuman?

Options :
1. ¥ years
2. % 12 VEArs
3¢ 14 years
* 16

=

Wears

%17 years

[

www.upscstudymaterials.com



Question Number : 120 www.upscstudymaterials.com
uestion Numbper <

Correct : 2 Wrong : 1

aﬁﬁwﬁ%ﬁmﬁmﬂﬂ: 18 o 31T 50 o & 7 Teher o1 H <A77 &1 ST STAT & 51 AT 51 A7
Options :

1. % oaf

2% 12af

3 ¥ 14af

4. % |6an

5 % 17ad

Question Number : 121
Correct : 2 Wrong : 1

A student 15 required to obtain 300 marks to pass an exzamination. Sumut secures 28% of the maszimum marles and fails by 90
marks. Determine the mazzinmum marles of the examination

Options :
1. % 650
2% 750
* 350

L

4. % ogp
5. % 1050

Question Number : 121

Correct: 2 Wrong : 1

Topelt uCia & SeAOT E1er B Toi TR ot 300, Sieh W vt ey B G SRR A T 28% TTE e § o0 00 St &
SRIOT 51 STAT 81 TS o SITEEmH SIh ST HE

Options :

1. * 450

2. ¥ 750

L

I
®
=)
=
—

5. % 1050

Question Number : 122
Correct: 2 Wrong : 1

Tisha 15 2.5 times efficient than Misha, and worlang together they finish a worle in 15 days. In how many days can Tisha finish the
work alone?

Options :

1. % 0 days
2% 13 days
3. % 18 days
4. ¥ 11 days

5. % 25 days

Question Number : 122
Correct : 2 Wrong : 1

T, ﬂéﬂ%%ﬁ T 24 & 37T T T0a @ o1l e ue o Tepedt @red anf 15 Tt O ORT & 2 g1 2197 Sfdhot 36 a1 i fea o To1 o
TRT & ;

Options : www.upscstudymaterials.com



1. % 0fEq
2% 13T
® 18t
4. % 21 1T

# ng ¥
25 TE

www.upscstudymaterials.com

4

L

L

Question Number : 123

Correct : 2 Wrong : 1

Armitesh Bhai undertook to finish a certain taslk in 82 days and amployed 108 men. After 46 days |, he found that he had already
done {ZIE}HI of the work. How many men can be discharged by Anitesh Bhai now so that the work finish in time?

Options :

1. % 27 men

-

2% 30 men

# 48 men

L

# 54 men

=

# 63 men

L

Question Number : 123
Correct : 2 Wrong : 1

AT ST ATS = U 1 o 82 TEAT H O @ o7 AT ToraT 1T 108 HTHen! @i @ ox @ f5am 46 ToAl @ e, Ive uar o 1 243
T AT § T [ehT 21 ST SATH ST WIS Tehd - STt @ g7 |ehd & d1ieh @12 |HI 0T QX7 51 107

Options :

1. % 27 yiEa
2% 30 o
® 43 Tw
® 54 i
* §3 A

oW

L

Question Number : 124

Correct: 2 Wrong : 1

Gungun Express leaves Pune for Delld and Tuntun Express leaves Dellu for Pune at the same tune. The trains cross each other and
reach their destinations in 138 and 32 hours respectively after crossing each other. What is the ratio of the speed of Gungun
Exzpress to the speed of Tuntun Express?

Options :

1% 34

1.9 4
W

Lid

35

L

4 % 5.3

# Cannot be determined

L

Question Number : 124
Correct: 2 Wrong : 1

e &1 A O AT et qu 6 T wel ! @ eierd | 7 ST geg e Uerete faeoil | OOf @ Sier 21 ¢ UW e @1 O e o arg S70-
S TIed! OT AT 18 31T 32 WEl # Ugel ST 1 8 A UTFeHg i 216 DT gz A T 9 =16 & 4T SguT &7

Options :
1. % 3.4
2.v 4.

Lid

3 % 3. www.upscstudymaterials.com
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4 % 5.3 :
' ' www.upscstudymaterials.com

5. % Ao et o A 9T g

Question Number : 125
Correct: 2 Wrong: 1

Simsim Express and Tuntim Fxpress travel a certain distance at the speeds of 36 lanph and 45 lemph respectively. The difference
in time talen by two trains to cover this distance is 3 hours. Determine the distance travelled by the two trains.

Options :

1. % 230 kam
2. % 350 km
* 420 lm
¥ 540 lam
* 670 lan

oW

L

Question Number : 125
Correct: 2 Wrong: 1

TemTEm geranE ofit e geane wa 36 TRdire ot 45 ToRwiwe 7 =16 & Ue g2 77 BT 5] 36 GO @l a7 B H T g7
BT TR T | T ST 3 | 81 &l ool GIRT a2 Gef AT

Options :

1. % 230 TorAT
2. % 350 ToRAT
C % 400 ToRAT
¥ 540 TeRAT
* §70 Tepdt

d= L

L

Question Number : 126
Correct : 2 Wrong : 1

E.ead the information given below and answer the questions that follow.

p@) =a’
o) =12
(&) = p(a) - q(a)

Which of the following expressions will have the mazinm walue for a = 17
Options :

1. * poga)

2. % gop(a)

* 1o EN

L

4. % gor(a)

o popia)

Lh

Question Number : 126
Correct: 2 Wrong : 1

e T T8 AT Ug 3 36d a1g, Toy T 0t & 39T o
pa) =2

o(a) =a/

(&) = p(a) - g(a)

a = | ¥ foT =i & Trg =gty o7 |19 Eaiie Www.upscstudymaterials.com



Options : .
" . www.upscstudymaterials.com
1. % pogia)

* qop(a)

L

w rog(a)
4. % gor(a)

N pop(a)

LA

Question Numbers : (127 to 129)
E.ead the information given below and answer the questions that follow.

In a family there are stz members - M, M, O, P, Q and R each one likes one cuisine out of six cuisines - Rajasthani, Mughla,
oindhi, Guarati, Awadhi and Continental There are two married couples in the farmly.

I W who likkes hughlai, is daughter-in-law of Q.

II. M is father of P and P is father of O

III. P lilces Sindhi while O likes Continental.

IV. R is brother of O,

V. Mo female member hlees Rajasthani.

W1 Q's husband lilees Gujarati

Sub questions
Question Number : 127
Correct : 2 Wrong : 1

Who among the following lltes Awadhi cuisine?
Options :

1. ¥

2% M

3 ¥R

4. ¥ FEither Qor R

5. * Either Mor R

Question Number : 128

Correct : 2 Wrong : 1

How is R related to M7
Options :

1. * Granddaughter
2. ¥ Grandson

3. % Sm

4. % Daughter

5. % Grandfather
Question Number : 129
Correct: 2 Wrong : 1
Who is husband of I7
Options :

1L ¥Pp

1% M

L
#
.

LA
#
=

Question Numbers : (127 to 129)
www.upscstudymaterials.com
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TeF Tiea® 8 & #3€ - M, N, 0, P, Q &[T R 81 Ucdeh 9aed o UrehATeidt - TIeT, §Ters, Tereft, Torm 1, stereff oflv spifeden o &
Tepelt U T OIS, AT 81 UNEN | 3f fantET e 8

I N, &% g g 2, Q 1 g &

II. M, P &7 TUaT & 3T P, O &7 Uar 21

I11. P &1 Terelt weg & S|l O @1 Flleed Uag 2l
IV. R, O BT9TE 8

V. Teret ot WigAT 926 i U=t 08g 51 6l
V1. Q ¥ U w1 TR e B

Sub questions

Question Number : 127

Correct: 2 Wrong : 1

T & R Tl O TEE 27
Options :

1. ¥ Q

2% M

3 %R

4 ¥ QARTHFE TP
5. % MITRAFDE TH
Question Number : 128
Correct: 2 Wrong : 1

. T I & T Teler 87
Options :

1. * oyt

2. ¥ g

3% g

4

5 ® AL
Question Number : 129
Correct : 2 Wrong : 1

N T i @1 87
Options :
1. ¥'p

1% M

L
®
o

LA
#
i

Question Numbers : (130 to 132)

www.upscstudymaterials.com



F.ead the mformation given below and answer the quest 1|:|11~; that

pscstu ymaterlals com

A group has five members. Their names are shubham, Saksham, Sunpreet, Suchit and Sumit. They are judge, professor, bank
manager, civil servant and pilot, not necessarily in same order. They are from Gurgaon, Bangalore, Hyderabad, Delhi and Jaipur,
not necessarily in same order. They are wearing white, blue, brow, grey and orange t-shirts, again not necessarily in the same
order.

The following information is lenowr:

.“*‘F"F—’“‘.‘“‘!—*’!-’B—“

Shubham is wearing brown t-shirt. He is not from Hyderabad or Delhi.

sunpreet is a judge. His t-shirt is not orange, and he is not from Bangalore.

Suchit and Swmit are wearing orange and blue t-shirts, not necessarily in that order.

malesham 15 a civil servant. He is from Jaipur,

Suchit and Swmnit are from Delli and Bangalore, not necessarily m that order.

The person from Hyderabad 15 wearing white t-shit and that from Delli 15 wearing blue t-shirt.

The person from Gurgaon is a pilot and the person from Bangalore is a bank manager. One of them 15 wearing orange t-shirt.

Sub questions
Question Number : 130
Correct: 2 Wrong: 1

Which state 15 Sunpreet from?

Options :

1.
2% Delhi

-

L

=

L
a

¥ Hyderabad

* Jaipur

* Bangalore

. % Gurgaon

Question Number : 131
Correct: 2 Wrong: 1

Who is wearing grey t-shirt?

Options :

1.

-

L

4

L
.

¥ Salcsham

* Sunpreet

# Suchit
# Sumit

# (Cannot be determined

Question Number : 132
Correct: 2 Wrong : 1

From which states do the professor and pilot come?
(The order is to be maintained. )

Options :

1.

~

L

4.

£
]

# PBangalore and Gurgaon
* Hyderabad and Bangalore
# PBangalore and Hyderabad

¥ Delhi and Gurgaon

. * Gurgaon and Pangalore

Question Numbers : (130 to 132)

www.upscstudymaterials.com
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T | | Ui G35 71 34 A0 & 90, H&H, 0T, G o gifa o warreltsr, e, s v, §ehT B Ue
UEele & UC 361 W | 51 g SMasd Apl of ST, dTae, patlans, ol A0 FAT & &, 0 561 0 | 51 I a9 A5 o T,
ieit, TeeTS, ST (W) 3R AR £1-9F UgH &, UT S6l A U U+ 51 Ig a2 dai

TR ST AT 7

1. SHH TS E1-98 UE B I RaXieg AT [eell § 751 8

2 | FTTENS 81 T 21- 9 AR Al 7 S 7F aee | TRl Al

3. gherd 3T G AR S Al £1-9F Ug &, U7 61 0 H B Ug+ 51 I5 A9 g
4. Ty AT THAN 31 TG A H 2]

5. e 3T G oot A anee | &, 08 56l 30 § 5 I AT Tah

6. BTG, aTelT ARk kg &1-918 U & 3T Tawel! aeT ik et &1-918 T 21

7. TSIl aTelT eIt UTSee & 31T STe[e alelT it dleh Weleleh 51 I=TH | Teh AT 21- 4 Ug 21
Sub questions

Question Number : 130

Correct: 2 Wrong : 1

Ff T & 2
Options :

L ¥ ey
2% fawer
3% SAq

4. % qe

5 % qEng
Question Number : 131
Correct: 2 Wrong : 1

o () -7 Rt e 27

Options :

1. ¥ qum

2. % g

3 % 9 IEE)

4. % gimm

5. % TAPa At o A 9T g

Question Number : 132
Correct: 2 Wrong : 1

T 3 TS Hel-el & 57
(TP AT T E1)
Options :

1. ¥ anepe oK Ena
2. ¥ Rt oY e
3. % gnge o g
4. & Tomell afiT T EQIE
. % T A AT

[ ]

Question Numbers : (133 to 137)

www.upscstudymaterials.com



The following table depicts the percentage of marles obtained 1:| qeven qmdrmalfg 1&10 ?#i different subjects of First Semester.
(Mote: The numbers in brackets give the Mazmum 11WVYV~¥ DP 91 1EC ? !

Engineerin Engineerin Engineerin
Subjects = £ _g FOCP 5 ) 5 X ! % English FOCP Lab
Mathematics Physics Chemistry
Students (150) (20) (40)
(200) (120) (100)
Simran 90 50 90 60 70 80
Kiran 100 80 80 40 80 70
Tammanna a0 60 70 70 a0 70
Rishabh 80 65 80 80 60 60
Mayank 80 65 85 a5 50 20
Tanya 70 5 65 85 40 60
Supreet 65 35 50 77 80 80

Sub questions
Question Number : 133
Correct : 2 Wrong : 1

Determine the average marls obtained by all the students i Engineering Physics.
Options :

1. ® 65.63

2. ® 7726

3.9 8014

4. %0137

5. % 0611

Question Number : 134

Correct : 2 Wrong : 1

How many students have scored| 5058\ ay/goo s manes al the gulj=ets?
Options :

1. * None
2%
392

4. %3

5 %4

Question Number : 135

Correct: 2 Wrong : 1

Determine the aggregate of marks obtained by Tanunanna in all the subjects?
Options :

1. % 500

2. % 510

3954

4. % 530

5 % 540

Question Number : 136

Correct: 2 Wrong : 1

The subject in which the owerall percentage is the best is:

Options :

1. ¥ Engineering Mathematics

2. % FOCP

- B . . e )
3. 7 Engneering Physics www.upscstudymaterials.com



4. ¥ Engineering Chemistry

5. % English

Question Number : 137

Correct: 2 Wrong : 1

Determine the overall percentage of Supreet.

Options :
1. % 4046%
N e

L

LA
S
o
=
]
—
o
o

Question Numbers : (133 to 137)

L0 O 1 B o e R e - B L O T 3 D s I o B e O A R

(e & : FE! H &1 T FEA, Heddh T o i o1 7)

www.upscstudymaterials.com

Engineerin Engineerin Engineerin
Subjects = 5 _g FOCP E : o . ; . English FOCP Lab
Mathematics Physics Chemistry
Students 4 (150) (20) (40)
(200) (120) (100)
Simran 90 50 90 60 70 80
Kiran 100 80 80 40 80 70
Tammanna a0 60 70 70 ao 70
Rishabh 80 65 80 80 60 60
Mayank 80 65 85 a5 50 o0
Tanya 70 15 65 85 40 60
Supreet > | 3% | 80 I . q | 80 80

Sub questions
Question Number : 133
Correct : 2 Wrong : 1

ST HTd e Engineering Physics) H @7 Teemiet gry o o9 2@ F1F 3
Options :
1. * 6563

5 H-I'-I'-ulj

3. % 3014
4 % 01737

5 % 0611

Question Number : 134
Correct : 2 Wrong : 1

Terer=r Teremierat = et Tawart | 60% =7 SEE 2TTerr 379 Uiy feny 87
Options :
N e 1

3¢
4. %3
5. % 4
Question Number : 135
Correct: 2 Wrong : 1

HHT THut § THGT @ UIH ST @ I S @
Options :

% www.upscstudymaterials.com
1. 500



L-2

% 510
3. ¥ 504
4 % 530

5 % 540

Question Number : 136
Correct: 2 Wrong : 1

g Ty oaH AT Uid 9T 9eE £, @ 91 87

Options :

1. ¥ Gt TioaE Enginesring Mathematics)

2. % FOCP

3. % s WITda T Engineering Physics)

4. % rEEET T e Engineering Chemistry)
5. ® 3N English)

Question Number : 137
Correct: 2 Wrong : 1

T T FAT Uidad AT B
Options :

1. ¥ 40.46%

2. % 5050%

3. % 5573%

4. % 50009

5. ¥ 60.21%

www.upscstudymaterials.com

Question Numbers : (138 to 140)
otudy the pie-charts and answer the questions that follow.

The number of students using different mobile handsets in a university

Total Mumber of
Students = 2160

Sub questions
Question Number : 138
Correct: 2 Wrong : 1

How many students use Apple handsets in the university?
Options :

1 *® 70

2. % 20p

3. v 400 www.upscstudymaterials.com



4 % 43p

5. % 510

Question Number : 139
Correct: 2 Wrong : 1

What is the ratio of munber of students using Apple handsets to the number of students using Samsung handsets?
Options :
1L *®7:

www.upscstudymaterials.com

-]
|
Lid Rl X

3% 4

4 %35

s ® 711

Question Number : 140
Correct: 2 Wrong : 1

How many students in the university use the handsets other than Sony handsets?
Options :

1. % 720

% 1020

¥ 1440

% 1030

% 2040

-2

[ B A

Question Numbers : (138 to 140)
TS UTE-=Te o7 arega- @it ot I arg T o st 3 39 3

A e A Y O\ T G e Y YN

Total Numbker of
Students = 2160

Sub questions
Question Number : 138
Correct : 2 Wrong : 1

Terarterene= | Tera el U §58e @7 JUI @d 87
Options :
1. %70
% 20
3. ¥ 400
4. % 430
5. % 510

Question Number : 139 www.upscstudymaterials.com
Correct: 2 Wrong : 1

L-2



W%ﬁtmwmaﬁﬁaﬁfﬁrmmwg@&?&mm”m 1 ATl TerEmeIa T | § 2T AU 67

Options :
1. %73

170

3 % 4.3

4 %

35

5 %711

Question Number : 140
Correct : 2 Wrong : 1

WWW.UPSCS

TePerTerenera § |41 DT 612 BT 363 gSHe ST T alel ferelmeial o T -1 &7

Options :

1. % 720
2. % 1000
3.9 1440
# 1070

=

# 2040

LA

Question Number : 141
Correct: 2 Wrong : 1

TRTeET g o ATHRE Teg, gy

T
Options :
1. % o
2 ® o
#® 3

(]
5
&g

4
13
.'_-E._.
ﬂ.
4

Question Number : 141
Correct : 2 Wrong : 1

TRTETET Teg & AATHRT deg g0

T
Options :
1 % g
2 % e

L
[

P
19,
:EI._.

E"'

4

Question Number : 142
Correct: 2 Wrong : 1

TR g o TR Meg, gy

IIE’H

www.upscstudymaterials.com
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P
4]
o,
fl_.
E‘Z;
&

Question Number : 142
Correct: 2 Wrong: 1

TR g o TR Meg, gy

Ilwl
Options :
1 ¥ gar

(]
W

P
4
.
?.
%
&

Question Number : 143
Correct : 2 Wrong : 1

PERITET 9 & Frw 95z g7y

Ilqgl'"

Options :

1. ¥ Faq

2% gy

% i

% T

W g

d= L

LM

Question Number : 143
Correct: 2 Wrong : 1

P ex o R geg g

"
Options :

1 ¥ a9a

2 % gy

- % mfere

* g

R AR

E S N

[

Question Number : 144
Correct : 2 Wrong : 1

PERET 9 & Few 95 gy

||-m-m-|-u

Options : www.upscstudymaterials.com



1. ¥ T
g

B =iy

. ® Ty

R A

www.upscstudymaterials.com

o A T N

[

Question Number : 144
Correct : 2 Wrong : 1

Frafeifas gea & R geg g0
nﬁm-r:

Options :

1 ¥ |

2 % gl

%ol

% e

R A HATE T

J= L

L

Question Number : 145
Correct: 2 Wrong : 1

e amerars & oy vat geg giag
"FT ST @ 5TET 0T HHT E

Options :

1% sfuimiam

2 ¥ URgw

% g

4. ® sfpe

B mna T T

(W]

[

Question Number : 145
Correct : 2 Wrong : 1

TR arerer @ o] 91 eg -y "1 =0Tk & g2aT 0¥ e g
Options :

1. ¥ afinfmias

2 ¥ iaw

. % danem

4_%3: -

R A RATE

[R]

L

Question Number : 146
Correct: 2 Wrong : 1

BT U o aeg § TR T E, 9% B

Options :

1. ¢ FifeET

2. ® FREREr www.upscstudymaterials.com
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® T H G AT

=

LA

Question Number : 146
Correct : 2 Wrong : 1

_F weaa o Seg K AR 8, 7% B

Options :

1. ¥ e
2 # FRRET

[R]
®

® g ird o

Lh

Question Number : 147
Correct: 2 Wrong : 1

Options :

1. % ugar

2% gEr

. imETT

% gt

T R

d= 0 La

[}

Question Number : 147
Correct : 2 Wrong : 1

Options :

1. ® ugar

2% er

R iutin

% g

® T H e

[ O N

LA

Question Number : 148
Correct: 2 Wrong : 1

TITT & TTet | aTelt ST aTell AR 2T Tet1el i ATT SEaTd | o
Options :

1% gar
B gt
VY ges
% i
R AR ETE

o I N O

[}

Question Number : 148
Correct: 2 Wrong : 1

T o Tl B sifeft qﬁaﬁﬁﬁmw&rﬁwmﬁ%- .
Onti .upscstudymaterials.com
ptions :
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i
R BT

o A T N

[

Question Number : 149
Correct : 2 Wrong : 1

U E12T W & AT T TP I H FET T 9123 &-
Options :

1. % 9

2% g

3. % g

4. ¥ =

5. ® TG HE T

Question Number : 149
Correct: 2 Wrong : 1

T §1T W & AT 51 I H gl FHT 9eg & -
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